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Grade 4 Science Released Item Information

. 1 Assessment Depth of 2 Tot.al
Item Number Big Idea Target Knowledge Item Type Answer Key Pos§1ble
Code Points
1 SAE PS2-4 1 MC A 1
2 SAE PS 2-5 2 MC A 1
3 SAE PS 3-7 2 MC A 1
4 INQ PS 1-1 2 CR 4
5 INQ ESS 1-2 2 MC D 1
6 SAE ESS 1-4 2 MC C 1
7 POC ESS 1-5 2 MC D 1
8 SAE LS 1-2 1 MC D 1
9 SAE LS 3-7 2 MC B 1
10 POC LS 4-9 2 MC C 1
Grade 4 Science Released Inquiry Task Information
Depth of Total
Item Number Big Idea' Inquiry Construct Knowledge Item Type > Possible
Code Points
1 INQ 8 2 CR 3
2 INQ 2 CR 3
3 INQ 10 2 SA 2
4 INQ 9 2 SA 2
5 INQ 12 3 SA 2
6 INQ 13 3 SA 2
7 INQ 13 2 SA 2
8 INQ 12 2 SA 2
'Big Idea: NOS = Nature of Science, SAE = Systems and Energy, MAS = Models and Scale,
POC = Patterns of Change, FAF = Form and Function, INQ = Scientific Inquiry
’Item Type: MC = Multiple Choice, CR = Constructed Response, SA = Short Answer
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PS2 (K-4) SAE-4  Students will, given a specific example or illustration (e.g., simple closed circuit, rubbing
hands together), predict the observable effects of energy (i.e., light bulb lights, a bell rings,
hands warm up) (e.g., a test item might ask, 'what will happen when...?").

@ A student turns on a lightbulb for
20 minutes and then turns it off. Which
statement describes the lightbulb soon
after it is turned off?

A. The lightbulb is warm.

B. The lightbulb continues to give off
light.

C. The lightbulb gives off an electrical
shock.

D. The lightbulb flickers on and off
until it burns out.

PS2 (K-4) SAE-5  Students will use observations of light in relation to other objects/substances to describe the
properties of light (can be reflected, refracted, or absorbed).

@®© Why do people in hot climates often
wear white clothing instead of black
clothing?

A. White clothing reflects more sunlight
than black clothing and helps the
people keep cool.

B. Black clothing reflects more sunlight
than white clothing and helps the
people keep warm.

C. White clothing absorbs less sunlight
than black clothing and helps the
people keep warm.

D. Black clothing absorbs less sunlight
than white clothing and helps the
people keep cool.
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PS3 (K-4) SAE-7  Students will use data to predict how a change in force (greater/less) might affect the position,
direction of motion, or speed of an object (e.g., ramps and balls).

€ Kelly and Jane are being pushed on
swings. The girls weigh the same, but
Kelly swings much higher than Jane.

How are the girls being pushed?

A. Kelly 1s being pushed harder
than Jane.

B. Kelly is being pushed more gently
than Jane.

C. Kelly and Jane are being pushed
equally.

D. Kelly is being pushed in a different
direction than Jane.

PS1 (K-4) INQ-1  Students will collect and organize data about physical properties in order to classify objects
or draw conclusions about objects and their characteristic properties (e.g., temperature, color,
size, shape, weight, texture, flexibility).

@ The table below lists physical characteristics of three objects.

Physical Characteristics of Three Objects

Object | Bending | Attracted to Magnet | Catches on Fire Easily
1 Bends No No
2 Bends No Yes
3 Bends Yes No

a. The objects in the table are a metal paper clip, a piece of paper, and a rubber eraser.
» Tell which object is the metal paper clip.
» Tell which object is the piece of paper.
» Tell which object is the rubber eraser.

Use data in the table to explain your answers.

b. Sort the metal paper clip, piece of paper, and rubber eraser into two groups using a physical
characteristic not listed in the table. Explain why you sorted the objects this way.
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Scoring Guide

Score Description
The response demonstrates a thorough understanding of using data to draw conclusions
about objects and their characteristic properties. The response correctly identifies three
4 objects and uses data in the table to explain the answers in detail. The response also
sorts the three objects using a physical characteristic not listed in the table and explains
in detail why the objects were sorted this way.
3 The response demonstrates a general understanding of using data to draw conclusions
about objects and their characteristic properties. The overall response is general.
2 The response demonstrates a limited understanding of using data to draw conclusions about
objects and their characteristic properties. The overall response is limited.
1 The response demonstrates a minimal understanding of using data to draw conclusions
about objects and their characteristic properties. The overall response is minimal.
0 The response is incorrect or irrelevant to the skill or concept being measured.
Blank No response

Training Notes:

Part a:

Part b:

A thorough response can be exemplified by the following sample response:

Object 1 is a rubber eraser, because an eraser bends but is not attracted to a magnet
and does not easily catch on fire. Object 2 is a piece of paper, because a piece of paper
bends and easily catches on fire but is not attracted to a magnet. Object 3 is a metal
paper clip, because a paper clip bends and is attracted to a magnet but does not easily
catch on fire or because it is the only object attracted to the magnet.

A thorough response can be exemplified by one of the following sample responses:

Piece of paper and paper clip in one group. Eraser in another group. | can push my
fingernail into the eraser but | can’t push my fingernail into the paper or paper clip.

Piece of paper and paper clip in one group. Eraser in another group. An eraser
crumbles when you rub it on something but the paper and paper clip do not.

Eraser and piece of paper in one group. Paper clip in another group. A metal paper clip
feels cold when you touch it and an eraser and piece of paper do not.

Eraser and paper clip in one group. Piece of paper in another group. | can rip a piece
of paper but | can’t rip an eraser or paper clip.

Eraser and paper clip in one group. Piece of paper in another group. Paper is a large
thin sheet but an eraser and paper clip are a lot smaller.
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Score PoInT 4
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In part a, the three objects (paper clip, paper and rubber eraser) are correctly identified based on the
characteristics in the table. In part b, the items are logically sorted into two groups. One group contains the
object that reflects (the paper clip) and the other group contains the two objects that do not reflect (the
paper and rubber eraser).
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Score PoinT 3
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The three objects are correctly identified in part a. However, the response does not include data from the
table that supports these identifications. In part b, two groupings were attempted. The “usefulness” of the
objects does not lend itself to sorting into two distinct groups. Separating them according to whether or not
they are made from trees is a logical sorting, with only the paper being made from trees while the paper

clip and eraser are not.
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Score PoINT 2
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The three objects are correctly identified in part a and the physical characteristics used in their identification

are explained. In part b, the objects are not separated into two groups. This table was copied from the
prompt.
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Score Point 1
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The three objects are correctly identified in part a. However, the response does not include data from the
table that supports these identifications. Part b, sorting into two groups, was not attempted.
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ESS1 (K-4) INQ-2 Students will use results from an experiment to draw conclusions about how water interacts
with Earth materials (e.g., percolation, erosion, frost heaves).

© A teacher tests four different earth
materials to see how well each material
drains water. The setup for the test is
shown below.

250 mL
water
500 mL — Funnel
earth ——
material
) —— Filter
Measuring
cup

The teacher follows the steps listed
below for each earth material.
* Collect the water that flows
through the earth material for
2 minutes.
* Measure the amount of water
collected.
Which measuring cup shows the results
for the earth material that drains water
most slowly?

A.

a

<

C @ @) @
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ESS1 (K-4) SAE-4 Students will explain how wind, water, or ice shape and reshape the Earth's surface.

@ How are the effects of wind similar to
the effects of running water?
A. Both form rocks.
B. Both form valleys.

C. Both carry small pieces of earth
material from one place to another.

D. Both break apart rocks by getting
into cracks and freezing.

ESS1 (K-4) POC-5 Students will, based on data collected from daily weather observations, describe weather
changes or weather patterns.

@ Fog is a cloud that touches the ground. The table below lists several weather conditions and
tells if fog forms in these conditions.

Weather Conditions

Air

Temperature | 0% e | AT | PPorma
50°F 35°F Moist Yes
50°F 70°F Moist No
40°F 60°F Dry No
35°F 25°F Moist Yes
5°F 35°F Dry No

Based on the information in the table, what weather conditions are needed for fog to form?

A. The air must be dry and cooler than the ground.

B. The air must be dry and warmer than the ground.
C. The air must be moist and cooler than the ground.
D. The air must be moist and warmer than the ground.

10



NECAP 2013 RELEASED ITEMS
GRADE 4 SCIENCE

LS1 (K-4) SAE-2  Students will identify the basic needs of plants and animals in order to stay alive (i.e., water,
air, food, space).

© A mouse lives in a very dry area. What
will be hardest for the mouse to find?

A. air
B. food
C. space
D. water

LS3 (K-4) SAE-7  Students will, using information (data or scenario), explain how changes in the environment
can cause organisms to respond (e.g., survive there and reproduce, move away, die).

© Skunks eat mostly insects during the
spring, summer, and fall. During the
winter, however, skunks eat mostly seeds
and nuts.

Why do skunks eat seeds and nuts
instead of insects during the winter?

A. Skunks cannot find seeds and nuts
during spring, summer, or fall.

B. Skunks cannot find insects during
the winter.

C. Skunks live outside in the summer
and in underground dens in the
winter.

D. Skunks move quickly in the summer
and slowly in the winter.

11
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LS4 (K-4) POC-9 Students will distinguish between characteristics of humans that are inherited from parents
(i.e., hair color, height, skin color, eye color) and others that are learned (e.g., riding a bike,
singing a song, playing a game, reading).

@ A young boy has brown eyes. What is the
most likely reason he has brown eyes?

A. The boy has an older sister who has
brown eyes.

@

The boy lives in a cold climate.

a

The boy inherited brown eyes from
his birth parents.

D. The boy has brown hair.

12
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Broad Area of Inquiry: Conducting Investigations
Inquiry Construct 8: Use accepted methods for organizing, representing, and manipulating data.

@ Use the data you recorded in Data Table 1 to graph the median amount of pollen
you were able to pick up with each texture. Label and title your graph.

Scoring Guide

Score Description
The response demonstrates a thorough understanding of how to accurately represent data
3 in a graph. The response includes a bar graph of the collected data with an appropriate
title, axes, labels, and numerical data for each texture plotted.
2 The response demonstrates a general understanding of how to accurately represent data
in a graph.
1 The response demonstrates a limited understanding of how to accurately represent data
in a graph.
0 Response is incorrect or irrelevant to the skill or concept being measured.
Blank No response

Training Notes:

Title: Median Amount of Pollen Picked Up by Each Texture

The labels on the x-axis should include the three textures tested.

The medians for each texture should match the medians in Data Table 1.

The scale on the y-axis should reflect the median amount of pollen collected by each texture.
The range on the graph should be from 0 to 5.

Must be a bar graph, not a histogram for a 3-point score.

13
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Score PoinT 3

Data Table 1: Median Amount of Pollen Picked Up by Each Texture
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Use the data you recorded in Data Table 1 to graph the median amount of pollen
y grap p
you were able to pick up with each texture. Label and title your graph.
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All elements of the graph are correct and the medians are correctly plotted.
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Score PoINT 2

Data Table 1: Median Amount of Pollen Picked Up by Each Texture

Stick Median
x| 3
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Use the data you recorded in Data Table 1 to graph the median amount of pollen
y grap p
you were able to pick up with each texture. Label and title your graph.
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The medians are correctly plotted. The title of the graph is incorrect and the label for the y-axis does not
specifically identify what median is being graphed. The numbers on the y-axis are not aligned with the lines
on the graph and do not begin with zero.
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Score Point 1

Data Table 1: Median Amount of Pollen Picked Up by Each Texture

Stick Median
X "1
Y P2

S
@ Usec the data you recorded in Data Table 1 to graph the median amount of pollen
you were able to pick up with each texture. Label and title your graph.
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The medians are plotted correctly. The title and label for the y-axis are incomplete and there is no label on
the y-axis. The numbers on the y-axis are not aligned with the lines on the graph and do not begin with zero.
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Score Point 0

Data Table 1: Median Amount of Pollen Picked Up by Each Texture

Stick Median
X >
Y \
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Use the data you recorded in Data Table 1 to graph the median amount of pollen
y g p
you were able to pick up with each texture. Label and title your graph.
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Nothing correct.
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Broad Area of Inquiry: Conducting Investigations
Inquiry Construct 8: Use accepted methods for organizing, representing, and manipulating data.

@ Use the data you recorded in Data Table 2 to graph the amount of pollen
you were able to drop off with each texture. Label and title your graph.

Scoring Guide

Score Description

The response demonstrates a thorough understanding of how to accurately represent data
3 in a graph. The response includes a bar graph of the collected data with an appropriate
title, axes labels, and numerical data for each texture plotted.

2 The response demonstrates a general understanding of how to accurately represent data
in a graph.

1 The response demonstrates a limited understanding of how to accurately represent data
in a graph.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

e Title: Median Amount of Pollen Dropped Off by Each Texture
e The labels on the x-axis should include the three textures tested.
e The medians for each texture should match the medians in Data Table 2.

e The scale on the y-axis should reflect the median amount of pollen dropped off by each texture.
The range on the graph should be from 0 to 5.

e Must be a bar graph, not a histogram, for a 3-point score.

18
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Score PoinT 3

Data Table 2: Median Amount of Pollen Dropped Off by Each Texture
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@ Use the data you recorded in Data Table 2 to graph the amount of pollen
you were able to drop off with each texture. Label and title your graph.
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All elements of the graph are correct and the medians are correctly plotted.
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Score PoINT 2

Data Table 2: Median Amount of Pollen Dropped Off by Each Texture

Stick Median
X >
Y \

@ Use the data you recorded in Data Table 2 to graph the amount of pollen
you were able to drop off with each texture. Label and title your graph.
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The medians are correctly plotted and the scale is correct. There is no label for the y-axis. The x-axis is
either incorrectly labeled as the median of the various sticks, or there is no x-axis label.
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Score Point 1

Data Table 2: Median Amount of Pollen Dropped Off by Each Texture

Stick Median
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@ Usc the data you recorded in Data Table 2 to graph the amount of pollen
you were able to drop off with each texture. Label and title your graph.

The medians appear to be plotted correctly but with no y-axis label or scale, it cannot be adequately
determined. The x-axis label does not specify to what the letters refer. The title to the graph is inadequate to
describe its contents.
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Score Point 0

Data Table 2: Median Amount of Pollen Dropped Off by Each Texture
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Use the data you recorded in Data Table 2 to graph the amount of pollen
y grap p
you were able to drop off with each texture. Label and title your graph.
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Nothing correct.
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Broad Area of Inquiry: Conducting Investigations
Inquiry Construct 10: Summarize results based on data.

€ Look at your description of the pollinating sticks in the table on page 4 in your
Inquiry Booklet.

Use your data (tables and graphs) to explain how the texture of the material on
each stick affects the amount of pollen that it can both pick up and drop off.

Scoring Guide

Score Description

The response demonstrates a general understanding of summarizing results based on data.

2 The response relates the results of the investigation to the texture of a good pollinating
material.

1 The response demonstrates a limited understanding of summarizing results based on data.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:
e Texture X is fuzzy and furry, and the pollen sticks well to its texture.
e Texture X was not too sticky, so it could drop off the pollen as well as pick it up.
e Texture Z picked up a lot of pollen, but it was too sticky to drop off much pollen.
e Texture Y was too smooth to pick up very much pollen and dropped off very little pollen.

23
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Score PoINT 2

€ Look at your description of the pollinating sticks in the table on page 4 in your
Inquiry Booklet.

Use your data (tables and graphs) to explain how the texture of the material on
each stick affects the amount of pollen that it can both pick up and drop off.
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|Thoroughly describes the texture of each of the three sticks and its ability to pick up and drop off pollen.
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Score Point 1

€ Look at your description of the pollinating sticks in the table on page 4 in your
Inquiry Booklet.

Use your data (tables and graphs) to explain how the texture of the material on
each stick affects the amount of pollen that it can both pick up and drop off.
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The response describes how the texture affected each stick's ability to drop off pollen, but does not describe
their ability to pick up pollen.

Score Point 0

© Look at your description of the pollinating sticks in the table on page 4 in your
Inquiry Booklet.

Use your data (tables and graphs) to explain how the texture of the material on
each stick affects the amount of pollen that it can both pick up and drop off.
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The response does not describe the ability of each stick to pick up or drop off pollen, it provides only the
texture.
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Broad Area of Inquiry: Conducting Investigations
Inquiry Construct 9: Collect sufficient data to study question, hypothesis, or relationships.

@ Which texture works best to pollinate a flowering plant? Use your data (tables and
graphs) to explain your answer.

Scoring Guide

Score Description

The response demonstrates a general understanding of how to collect sufficient data to
2 study question. The response answers the research question and uses the graphs clearly
to support the answer.

1 The response demonstrates a limited understanding of how to collect sufficient data to
study question.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

* Texture X was the most effective material to both pick up and drop off pollen.

e The data show that Texture X was able to pick up a medium amount of pollen and drop off a
medium amount of pollen.

e Citing other textures with reasonable support (for pick up and drop off of pollen) is acceptable.
* Identifying a texture is not enough to receive credit.
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Score Point 2 (ExampLE A)

Which texture works best to pollinate a flowering plant? Use your data (tables and
p gp y
graphs) to explain your answer.
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Stick X was selected based on its texture. Specific data from the investigation was used to support the
selection.

Score Point 2 (ExawpLE B)

@ Which texture works best to pollinate a flowering plant? Use your data (tables and
graphs) to explain your answer.

T}‘ﬂ ‘chh;ajfmtwms b&j{' {a_fp_U Jucite @ f/"!/}f

_»p:ngJ amﬁ_mt, am/ n‘- Isn t—Q.I_'bL_‘L)/__ltC&ML .

L({Pdd ~ S _—

Stick X was selected based on its fuzzy texture. Information gained from the investigation supports the
selection.
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Score Point 1

@ Which texture works best to pollinate a flowering plant? Use your data (tables and
graphs) to explain your answer.
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|Stick X is selected but the response does not describe the texture or why it worked best.

Score Point 0

@ Which texture works best to pollinate a flowering plant? Use your data (tables and
graphs) to explain your answer.
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Incorrect.
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Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 12: Use evidence to support and justify interpretations and conclusions or
explain how the evidence refutes the hypothesis.

© Check the box next to the statement that best describes whether your data
supported your prediction.

[ ] Yes, the data supported my prediction.
[ ] No, the data did not support my prediction.

Use evidence from your investigation to explain why your data (tables and graphs)
and observations did or did not support your prediction.

Scoring Guide

Score Description

The response demonstrates a general understanding of explaining how to use evidence
2 to support or refute the hypothesis. The response correctly identifies whether the data
supports or refutes the original prediction and uses specific data from the investigation
to explain why the prediction is or is not supported.

1 The response demonstrates a limited understanding of explaining how to use evidence
to support or refute the hypothesis.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

e The response has a checked-off box that matches the original prediction based on the
investigation’s evidence.

e The response uses examples from the data to explain why the original prediction is or is not
supported. Student uses two or more relevant examples from the data and/or observations in the
response.

29




NECAP 2013 RELEASED INQUIRY TASK
GRADE 4 SCIENCE

Score PoINT 2
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@ Check the box next to the statement that best describes whether your data
supported your prediction.

[ ] Yes, the data supported my prediction.
M No, the data did not support my prediction.

Use evidence from your investigation to explain why your data (tables and graphs)
and observations did or did not support your prediction.
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The response explains why sticky was not the best and why fuzzy was better. Data and information from the
investigation is used in the response.
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Score Point 1

I predict —\‘—}'\C«A— "}\L 5'}'{ IC fﬁ{)’ e,r I ﬁ J(’ J'L I
besh

because )‘r.}\ ﬁ‘x’ J h A 4.
Lom oNe Peant o ol

@ Check the box next to the statement that best describes whether your data
supported your prediction.

[ ] Yes, the data supported my prediction.
No, the data did not support my prediction.

Use evidence from your investigation to explain why your data (tables and graphs)
and observations did or did not support your prediction.

_.MJ_A._[\U’\‘ baeca\zsa R (WaS

\.)5&’ mL' P/C'/C
’Rﬁﬂﬁ CWN dﬁdw_dﬁ;

The response does not fully explain why the prediction was not supported by the investigation or why Stick X
was the better choice.
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Score Point 0

" bt bee 15 1P1 Key .

because

the o Nenhas oN a bcrs.

@ Check the box next to the statement that best describes whether your data
supported your prediction.

. Yes, the data supported my prediction.
[ ] No, the data did not support my prediction.

Use evidence from your investigation to explain why your data (tables and graphs)
and observations did or did not support your prediction.

4 did ‘occause Hhe dorag was

acd

| Irrelevant.
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Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 13: Communicate how scientific knowledge applies to explain results, propose
further investigations, or construct and analyze alternative explanations.

@ Explain why the texture of a bee’s body is important to a flowering plant. Use what
you learned in your investigation about texture and what you know about how bees
help plants.

Scoring Guide

Score Description

The response demonstrates a general understanding of communicating how scientific
2 knowledge applies to explain results. The response explains why the texture of a bee’s
body is important to a flowering plant.

1 The response demonstrates a limited understanding of communicating how scientific
knowledge applies to explain results.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

* Response explains that the texture on a bee’s body helps pick up and drop off pollen.

e The bee’s work of picking up and dropping off pollen is important to a flowering plant because
the plant needs to be pollinated to bear fruit or produce seeds.
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Score PoINT 2

@ Explain why the texture of a bee’s body is important to a flowering plant. Use what
you learned in your investigation about texture and what you know about how bees
help plants.

T Xhow Hhat bees age Ahe main Delleters and Lo,
Plonts_Jepend an_bees. TF Hie Yoxdafy of A bees 7

50/11/ J\ AnJ-p:d uD ﬂ(‘ /wm) %LQQM@_W_L_

Wl 4 glow/ fults S0 the ' Jexdwe of o bees
Woa/d

bohy 15 real_k,umMJm% Hv ’wa \hole

The response communicates what was learned in the investigation and how it applies to the texture of a
bee’s body.

Score Point 1

@ Explain why the texture of a bee’s body is important to a flowering plant. Use what
you learned in your investigation about texture and what you know about how bees
help plants.

The Yortite of Y | 'S (mPStesd
for  pdlene i‘lﬂA a lmﬂsr vag.—”l_*aol\?n
hes o b&_ublf__b_ el m) He lee's

chitj* hot alsa ake, sufe s Not- 4n dm,
Lwn uo;) ((?._n"\‘ \(Op (‘\@( {Lxc,?o\ler\

The response is correct but does not specifically address the texture of the bee’s body.
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Score Point 0

Explain why the texture of a bee’s body is important to a flowering plant. Use what
p y y p gp
you learned in your investigation about texture and what you know about how bees
help plants.

,/3? e’ S /-(, e /p p[Q pz;é.i“: é}g;.@ﬂé{g(
| S 4

| Irrelevant. This information is in the prompt.

35



NECAP 2013 RELEASED INQUIRY TASK
GRADE 4 SCIENCE

Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 13: Communicate how scientific knowledge applies to explain results, propose
further investigations, or construct and analyze alternative explanations.

@ What can the students in the classroom in the story do to pollinate the strawberry
plants without the help of bees? Based on the results of your investigation, explain
your answer.

Scoring Guide

Score Description

The response demonstrates a general understanding of communicating how scientific
knowledge applies to explain results or to propose further investigations. The response

2 ) _— : )

connects the investigation results to a suggestion for the students in the story to help

them pollinate the strawberry plants in their classroom without bees.

1 The response demonstrates a limited understanding of communicating how scientific
knowledge applies to explain results or to propose further investigations.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

e The response explains how the students in the story could hand-pollinate the strawberry plants
(or other acceptable methods).

e The hand pollinator could be on a stick, similar to the one students tested; it would need to be
a material that is fuzzy or something else that could both pick up and drop off the pollen as
shown in the investigation.
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Score PoINT 2

@ What can the students in the classroom in the story do to pollinate the strawberry

plants without the help of bees? Based on the results of your investigation, explain
your answer.

¢4 ' ¢ l o £
" [I £ ¥ I E\ow i

s dose
-f'l-\e-p’a.-n*S wan gfa..g 'H'Lﬁ' 5@.&.&_

|The response provides a practical solution that is based on what was learned in the investigation.

Score Point 1

@ What can the students in the classroom in the story do to pollinate the strawberry

plants without the help of bees? Based on the results of your investigation, explain
your answer.

The 5\ub<;m:_1_as,é¢> _ZQQ Cozz
Sicks Yo move pelen Lram or%
Qower o anoines o0 AN\ own.

|Provides a practical solution but the explanation is limited, with no reference to the investigation.
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Score PoinT 0

@ What can the students in the classroom in the story do to pollinate the strawberry
plants without the help of bees? Based on the results of your investigation, explain
your answer.

Ythey Can 4.Se Sgmething
CHCKY fnd d £law
pallen YK T,

|The response does not explain why using something sticky will pollinate the plants in the classroom.
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Broad Area of Inquiry: Developing and Evaluating Explanations
Inquiry Construct 12: Use evidence to support and justify interpretations and conclusions or
explain how the evidence refutes the hypothesis.

© Look at the pictures of the pollinators below.

Bee Butterfly Hummingbird

Based on what you learned in your investigation about the textures of materials,
describe what makes these animals good pollinators. Use evidence from your
investigation to support your answer.

Scoring Guide

Score Description

The response demonstrates a general understanding of how to use evidence to support
2 and interpret a scientific understanding. The response includes an explanation of how
the texture of the body of a pollinator—bee, butterfly, and hummingbird—is similar to the
texture of the fuzzy material.

1 The response demonstrates a limited understanding of how to use evidence to support
and interpret a scientific understanding.

0 Response is incorrect or irrelevant to the skill or concept being measured.

Blank No response

Training Notes:

e The response explains how the texture of the pollinator's body is similar to the texture that
picked up and dropped off the most amount of pollen.

e The “fuzzy” texture is important for the pollinator to be able to gather the pollen at one flower
and drop off the pollen at the next flower.
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Score PointT 2

© Look at the pictures of the pollinators below.

Bee Butterfly Hummingbird

Based on what you learned in your investigation about the textures of materials,
describe what makes these animals good pollinators. Use evidence from your
investigation to support your answer.

‘H\eu all collect mj_en whnat €ver wau
+h€u Q_BJ 1+. T‘neu 3\\ \have either §'hcf<u of
‘Fuu.l-l ‘)_av_-ts_m 'Hnem Sa__that %eg Can mllnat
When we did the experiment 1Y wag X% Y
1t were  the bgajz_i-hc_kgénd PQf_Tj , -?_uzzy.

The response correctly relates the results of the investigation to the effectiveness of the pollinators’ body
textures.
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Score Point 1

© Look at the pictures of the pollinators below.

Bee Butterfly Hummingbird

Based on what you learned in your investigation about the textures of materials,
describe what makes these animals good pollinators. Use evidence from your

investigation to support your answer.

Thlse oo e a0d pell i podo
Zirtey 10y or LN+, mwr HIWR,

Sm} X,

The response describes the pollinators' body texture but does not refer to the investigation to support the
response.
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Score Point 0

@ Look at the pictures of the pollinators below.

Bee Butterfly Hummingbird

Based on what you learned in your investigation about the textures of materials,
describe what makes these animals good pollinators. Use evidence from your
investigation to support your answer.

L4

(A Nat el

H"e‘j make flowels 3Mm_a&2td:%mm__

| Irrelevant.
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